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run_13059026 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
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run_13059026 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3CD
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[ADC MPV for RDO=2,ARM=2,APV=17 J

MPV (ADC-ped)

. . ;
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=18 "}

L : : : : : :
1800 [ s e R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+

i
120
APV channel

-500

[ ADC MPV for RDO=2,ARM=2,APV=19 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=21 "}

MPV (ADC-ped)

APV channel




run_13059026 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
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run_13059026 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC
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run_13059026 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC
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